BLUEPRINT
MAXIMUM MARKS: 100

TIME: THREEHOURS

CLASS: X

SUBJECT : HINDI (MIL)
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Internal

Scheme of Options:

* Denotes the marks have been combined to form one question

Marks : 30
Marks : 50

No. 07
No. 21

Summary: Long Answer (LA) of Essay (E)
Short Answer (SA)

two

Scheme of Sections:

Marks : 20

No. 20

No. -

Very Short Answer (VSA)

Objective (O)

Difficulty level:

Marks : -

Golok Chandra Deka

18

MIL Group - C (a-fa=i4)
(Sanskrit)
JYETIRF 8 W
Time: (Attached to MIL)

1. Translate any two of the following passages into your mother
language : 3x2=6

©eTq RICPIC] U1 S5=% (OIS NI S 4l 2
(a) ITETATIUT TIASATAT: HITTATs STAHATS AT AMTAAH,
ST | T T2 SATCHTA M1 TS JTOT ST |
(b) TTSIT STTChTRUA e FHH T 3T Tz TAAH SATE - T T
AT IeTe IOTRIAAT AN T 38 HITH g UF o
ITATH ITa JieaH STar=Ie |

(c) AEH: TSIz AT ATAF-SIUSIET FIATTH =g | T
% -THT H{Tac AT ATAH-SIUSTLET TeATTH Saegar |
&2 HH L TS He ATAR-SIUS T Fea ok ST |

2. Answer any one of the following questions : 2
o RICHICT G 21 Tee ol ¢

(a) Tz WIRTHA | TT HH AT Sicita af o 7

(33)




Who is the speaker here? Who was ‘T CT=Te’ ?

2® @ (@92 TS (I wifeeT 2

(b) T THT AR, qfE TAT Wag |
What do you mean by ‘STTHTH ?
S T 5 e

3. Fillinthe gaps in the following verse: 3
TR (AR Aifet 31Z 73 4t 8

e 3 ----- HGAT gHAT=
Or /=<l

4. (a) Answer any one of the following questions : 3
OoT9 2R RIS Bis Tes i ¢
(i) What are the six causes of happiness on Earth?
52T 72 20! il {5 5 2
(i) What are the six vices a man should avoid?
3 1 =01 (11 Mg oplal < ©fbw 2
(b) What s the characteristic of greatness? 1

(34)

19

2eq o 5 2
(a) Derive any two of the following : 1x2=2

O R o1F Jjeoife 12 ¢
() TfeI=T in Q. No. 2 [37% 2]
(i) T in Q. No.1 © [ 7k © 2]
(iii) ATHATH N Q. No. 2 [a R 2]

(iv) IHAT in Q. No. 1 © [> R © &¥9]
b. Account for case-ending in any one of the following: 1

o RGP GOIF T ol e i ¢
AL N Q. No. 1 © [> 7k © 2h49]
WINHETin Q. No. 2 [3R 2%
AT in Q. No. 1 © [> R © &%)
c. Decline any one of the following : 2

O] R @5 *(wrawol forall ¢

(i) "TEH<T in seventh case-ending plural.

‘T AT efes IemTe |
(ii) ‘=¥ in vocative singular.
TG AT 2V G |

d. Conjugate any one of the following : 2
(35)
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(i) v+« <

X:SSVT1O

(i) V3T + A f&)

(i) VT (to drink, 5 (=) + &< AL |

Frame three adjectives from any three of the following

e.

1x3=3

oo} it fof o) ey #i1 fofat! Rose stom sate

nouns:

upsUes (O-dnouo) 1IN : L030aNS

INIdd3aNd

Jaz |

TR, A,

o
Oy

T,

20
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